
In the example, Rn is the 

atomic symbol for the element 

Radon. The number 222 

indicates the atomic mass of 

the element (or isotope). The 

number 86 represents the 

element’s atomic number. 
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Decay Chain Worksheet 

Examine each decay chain and identify the element. Then indicate whether each transformation is 
due to the emission of an alpha or beta particle by writing in the corresponding symbol. Sometimes 
gamma rays are released but because the release of gamma rays does not affect atomic mass or 
atomic number the exercise is focused on alpha and beta emissions. 
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